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A walnut floating on water — ANFIT 13957 IRD 2% 523 DY AR
is not considered to be at its proper resting position.

OVERVIEW

The X713 discusses the status of an object placed on water; either directly,
where it is not considered ‘at rest’, or in a vessel floating on the water, where
we are not sure whether it is a proper 1117, 1.e. if it is considered ‘at rest’ or
not. There are similar cases regarding other m2%7 where these same issues
arise, with differing and contradictory results. A ship moving in the water is
not considered a moving 7%n. A person, who is riding an animal, even
though he is sitting in one place, is not considered at rest, as far as 7125 n13%:1
127 are concerned. M50I1N will reconcile these contradictions.

Moo responds to an anticipated question:

— (oW1 3,0 97) NN NAIT NP 7992 19999N7T 2) DY 9N)
And even though we say in the first P92 of 1»''2, regarding the 17 of a n3%n 73n
[that a moving property cannot acquire objects that are in it for its owner, as an
immovable property can], and nevertheless, a ship moving in the water, is not considered

a no%nn 9% and it is anp. If fish jumped into a moving ship, the owner of the ship is 71
the fish 7% 17, The reason the X713 gives, is that -

— 11159 5091 NPT NI NI) KNI NI N990

The ship itself is really at rest, it is the water that moves it along. We see
from that X7n3, that an object moving (floating) in the water is considered at rest, why
then do we say here that the 13X is not at rest in the water”?

mooIn answers that —
— NOYNN I8N YIPN NIT IRV 1237 >2)0
Regarding the 175977 of acquiring objects through 1xn 717, that is different
from naw n15%7. Concerning 1317 1°37 M%7 a ship moving in the water is not
considered a nobmn 131 -
=209 5051 KDY SMN DD RDT INON 393 199 199 1399 Y8NT

! This (seemingly) poses a difficulty (not only for the query of X217 [regarding "2 *»32 1ax], but rather) for
the ruling of 827 that \nn37 12777 W2 2 3"V 1K, The 1A is similar to the 71°50. Since the 71°90 is 11°°1 1» the
o’n A"y 1R should also be considered 1171 n1°n. See WX N,

? See “Thinking it over’ # 1

? See ‘Thinking it over’ TIE 7350 3"7 '03n 2,0 "2 which cites the 0"w: 7773 here and there.

1

TosfosInEnglish.com



TR 7"7 '0W0 2,7 paw .7"o2

because the 770977 that a 23m is 71y for its owner, is derived from the 7°1p of
7, where one acquires an object by receiving it in one’s hand (and making
a 121 1o°wn ,77237), and there is a »12° in the 770 that one can also be 71p if
the object is placed in his 7%r, with the requirement that the 2% 7°1p be
similar to the 7 1°3p. A N2 xn which moves (away from its master) is not
comparable to a 7° which doesn’t move (from the side of the ‘master’).
Therefore a no%nn 1%n is not Mp. Conversely, however the movement of the
hand is also similar to the movement of the ship, in as much that it is the

person who walks alongside the hand and carries the hand along with him,
therefore the moving ship is like the moving hand, in that there is something else that is
causing it to move (the hand by the body and the ship by the water), and it is not a %7
na%mn. This is the reason why by 1% 11p mM3%7, a ship is not considered a n3%7n X

— DOYNINN DN AV T979 NIN NNINDN N0 KDY OWI 19295 19WNN NXIN YaN
However here by naw mobn, we derive the mdx>» from the jown», and
there, in the jown, we may assume that items were not stored in any

haphazard manner, but only in the way people usually store items, and
obviously people do not store things on water, therefore it is not a 7ri7. We therefore
cannot compare at all, the rules of 113 with the rules of naw, as to what is, or is not,
considered at rest.

In summation: neither by %17 7°3 nor by n2w are we discussing the technicalities of being
‘at rest’, per se, but rather, we need to ascertain whether it satisfies the halachic
requirement for that particular situation.

Now that mo01n made it clear that the concept of ‘at rest’ for naw is dependent on Nax»
19Wwn, we can now understand the X°v2°X of X21.

— °NYIN D89N I9I¥NY 79 797 NYD DN D 532 5Y q¥ 939 5992 1IN S¥a)
And X217 inquired what would the 712777 be, in the case where the walnut was
in a vessel and the vessel was floating on the water. The query is if this is
a usual manner to store items, and then he would be 2’1, or perhaps it is

not usual to store items in such a manner and he is 70>.

4 See 2,” n"2 where the X713 derives 7% 7°3p from the (J,JD [@vown] mnw) P05 of "1 1772 R¥AN KR¥MT OXR that
PR2TNR RT> DWH X1 to be an effective mode of 11p.

% X271 was not inquiring whether the 13X is technically ‘at rest’, for as mooIn will shortly prove, the 33 1
is definitely not ‘at rest’.
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mooIn proves that the query is regarding if this is considered jnni7 777 but not if it is
considered nnn:

— %3197 797129 2199 19 NPT 3T N INY INTIT 23 9Y 9N
even though a walnut placed in a floating vessel is certainly not
considered completely ‘at rest’, for we established the principle; that we

consider someone who is riding as if he were walking’, and not at rest, even
though technically he is sitting in one place.

mooin will now offer additional proof, that an object placed on a moving person is not
considered at rest. Therefore we must say that X°¥2°X s'X27 was not whether the 922 1K
21 1s at rest, but rather whether this is 107737 7.

— 97 NINW DTX YY 1) ONT 303 ¥OYN (v2p 91 NN P99 Y¥I92)
And in the beginning of the last P92 in our noon it also seems that if

someone places an object on a person while he (the recipient) is walking -
— NN YN XYY

That it is not considered a proper 1137, since the recipient is moving -

— SYTIY NOAWA NINSN 5V NN RIAWS 195 NI NPT
For 727X 72 X7X 17 says there that he places the object on the animal while
it is walking’, thereby not causing the animal to make an '’7°py and he

takes the object off the animal when it stands still, thereby assuring that when
the animal will start walking again it will not make an apy.!! We derive from this that
placing an object on a moving animal is not considered an 77°py. This proves that an
object placed on a moving animal is not ‘at rest’. For if it would be ‘at rest’, then when

® The walnut in this case, is similarly ‘riding’ in the vessel, and therefore it is to be considered as if it were
‘walking’ or moving, and certainly not at rest. Therefore we must understand that s'%27 inquiry about 11X
451 %901 is not whether the 1R is literally at rest, for it certainly is not at rest since we say 72713 2107, rather
it is a query whether placing an 0°» 2"V A% °931 %32 11X, is a usual and customary way of storing an item or
not. See ‘Thinking it over’ # 8.

7 Therefore when one sees his *27 riding he must stand up, out of respect for his *27, just as if his *27 would
be walking, since °n7 72715 2197. We do not consider that his *27 is seated, which would not require the
student to stand. See 2,37 w17 for another application of this 722.

¥ See there 2,3p regarding a person who was traveling late on naw 27 (with an animal) and naw arrived; 27
727X 72 X7X advises (based on the X,31 71wn) what can he do concerning the articles he needs to take with
him, since he is not permitted to carry them on naw.

? For if he placed it on the animal while it is standing, then when the animal will begin to move it will be
considered 17 Y51 NPV 1D NRY.

' One is not permitted to cause his animals to do a Xn™MKT 79K%% on W

'" Even though the animal is making a 7m7, but since it is only a 737 and not an 7m3m APy, therefore there
1S no XN™MXT MO°K, and by an animal there is no 112772 MOX.
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the animal continues to move, it is making an 77°p¥, in the same manner as it would be
making an 71°pY when the object is placed on the animal when it is standing'?. We can
assume that the same is true by a person. This is proof that placing an object on a moving
person, even though the object per se is at rest, we do not consider it at rest since the
person is moving. Therefore here too by the *732 1iR, even though the 11X is ‘at rest’ in
the *92, but since the *75 is moving in the water it is not really ‘at rest’.

moon cites an additional proof:
= HYIIN INY NYIYI 1T NIXID (8,9 97 1mpY) NININD 2133 12799N)

And we also say in X277 P19 if one carried out (2"717 °"117n) a sufficient
amount of ink to write two letters"
— DHNIN NN I BNAINI 2N THNN NINY Jana)
And he wrote two letters with this ink while he was walking (in the 1"77);
he is 21 for XX even though he did not stop in the 7"77. The reason is;
writing with the ink on paper that is their 1737, so even though the person is
walking, the ink is considered at rest on the paper that it was written on.
— O9YY OV INYIY DIPNA ININVY DANI NPIT ¥HIUN
This seems to imply that only by writing is it considered a 7177 for the ink,

because he placed the ink in a place where it will remain forever"* -
17971 NIV 113 NN BUN XY INN Y99Y 7oV ONX YaN

However, if he poured the ink into another vessel while he was walking, it

would not be considered a nmn since he is walking'>. We see again that
placing an object on a moving person does not confer upon the object the status of being
at rest, The same is true for 1R, therefore we must say that X°¥2°X s'®27 was if it is 777
N30, and not, if it is ‘at rest’.

SUMMARY

A ship is not a N7 18N because it is similar to 7°. In both cases something
else propels them to move (the water and the body respectively).

Placing a walnut in water is not a proper 7737, since in the j2wn we do not
find such an unusual 7m17.

The X°¥2°X of X217 1s not if the 1K 1s ‘at rest’, but whether this is 177 777.

"2 See “Thinking it over’ # 2 & #9. See ‘Appendix’.

" That is the amount of ink necessary to be 21 for AR,

" This type of permanence supersedes any other considerations. Alternatively we may consider this 777
1nmaa. See ‘Thinking it over’ # 4.

' See “Thinking it over’ # 3
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Any article which is at rest upon another object, in which the latter is
moving, is not considered completely ‘at rest’. Therefore: a) *»7 72715 2107,
b) it will not be considered an 77°pP¥, as in the case of 7wnnaw "», where he
places an object on the animal while it is moving, and c) it will not be
considered a 737 as in the case where a person will pour ink into a vessel
while he is walking'®.

THINKING IT OVER
1. Is" “not moving’ (by a 71°90) the same as ‘at rest’ (by the 1X)?

2. Placing'® an object on a moving animal will certainly not cause the animal
to make a 777°pY, because the animal is not at rest and there is no 121 npPY.
Placing an object on a moving animal however, can be considered a 717
relative to the person who is placing it there."”

3. 1t*° seems that mooin is taking his point a step further; pouring ink into a
bottle is not sufficient, even though the ink is at rest relative to the bottle,
which [the bottle] is technically at rest relative to the person, only because
the person carrying the bottle is walking.

4. Why would writing something on a paper be a different/better 7r17, than
placing it in the ink bottle*'?

5. How can we differentiate between the proof from °n7 7273 2157 and the
proofs from 7wnaw *» and the ink?

6. How do we justify the need for the two proofs; from the animal and from
the ink?

' In the case of the 121 *732 1y, the reason why it may be is a valid Am3m 77°py is because it is more 7772
(as opposed to the case of 7wnnw *» and the ink). See w"X77 '01n. For an alternative explanation see
‘Appendix’.

7 See footnote # 2.

'® See footnote # 12.

' See Mk now and ‘Appendix’

%0 See footnote # 15.

*! See footnote # 14.
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7. How may we reconcile that which maoin says that the query is whether it
1s 7172, with the way the X713 explains it, whether we follow the state of the
1R or the state of the ¥93?

8. mooIn asks how we can assume that 2o 3"y A% v921 9922 13X is at rest since
M7 797n3 21197.% Seemingly by T2an3 2197 the person is sitting on a moving
animal; however by *222 1R, the MaX is at rest in the *75 and the *73 is also at
rest since it is merely the water that is moving; how does 19010 compare the
two?!*

9. mooIN proves from the ' in Pwnaw " (where he is Xaw> %% M
na%nn) that placing it on a moving 772 is not a 7mn for otherwise when he
72 moves it should be considered an 771°py.>* Seemingly we can say it is
considered a 117 however since the item is not moving from its place on the
animal and the animal was in motion the entire time therefore there is no
7913 npy! What is mooin proof?!™

APPENDIX

The nnX now asks how can '01n compare the case of placing an object on a
moving animal to placing the *222 MaX. When the object is placed on the
animal while it is moving, we understand why it is not considered an 77°pY,
even though it may be at rest, because the only way it can be an 77°pY is
through the 1 n7°py of the animal. Here however the animal is moving
already before the object was placed on it, so there is no 1913 n7°py. By the
case of "722 MaX however, we are considering whether the person who places
the *222 13% made a 7m37. Here we can say that relative to the *93 the 12X is at
rest, and therefore there is a nin17. (The same difficulty arises from the case
of the ink, since the person is walking all the time even after he poured the
ink into the bottle, there is no 191 D7)

Alternatively, the naX now asks, if in the case of the ink (and the animal)

22 See footnote # 6.

2 See WK nnan.

2* See footnote # 12.

2 See w"wA and M K.
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there is no 211, because they are not deemed ‘at rest’, why is there even a
question whether in the case of 1aX there should be a 21’11, since Mo0IN seems
to equate them.

One can suggest that perhaps the first question of the X"sw answers the
second. There definitely is a difference between *752 1MaX and the two cases
(the animal and the ink) mM»oIn brings as proof. In the case of 752 MaX the
person made a regular 117 by placing the object on a °73. In the cases of "
Twnaw and the ink, however, the animal and the person who are making the
amIm 7Py are moving (either from before the 7Py or until after the 7man)
with the objects, so there is no 1912 NI 1913 NPY.

MBoIN maintains however, that if an article placed on a moving object would
be considered nnn "X i.e. totally ‘at rest’, then there would be a regular
oMM 7Py in the cases of the animal and the ink, regardless if the
person/animal is moving, since the object is ‘at rest’. It would be comparable
to someone who is running and he (intentionally) kicks something lying on
the ground - while he is running - from the 1"71% "7, is there any doubt that
he will be 2>11. The same would apply here by the animal and the ink, that
since the object is completely at rest (on the animal) so when the animal
moves the object is being p¥1 from its 77377 21P» and he would definitely
be 2n. Subsequently *252 1k would surely be 2»n, regardless if it is 1977 or
not, since the *752 11X is definitely totally ‘at rest’, it is a complete and total
717, The fact that in those two cases he is not 21, proves that an article
placed on a moving object is not completely ‘at rest’ per se.

Once we have established that an article placed on a moving object is not
completely ‘at rest’, we can discuss the status of *952 1M, where the concept
of 11 nnImM 7Py is irrelevant, because he made a °»>2 1772 7n33. The
question arises in such a case, where the 7mi7 is in a manner where the
article is not completely ‘at rest’, but relative to the mn it may be
sufficiently ‘at rest’. This is what we have to derive from the j2wn, if this
type of m17, is 7773 or not
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